RTLAR)L1IIERYS /R

10RT1 SNEA S 573X 20150601. doc

BlERES

Bkl
WE )RR (h)

AR

]

FENEER

BTSS!

NDT o FEE & RS D#E ST

1.00

Ex (B8

FEE (BHMETHR. BHROT
LE¥—, RE. BEX)

YIRH R IR & B E RN

3.50

X#R., AUTHROMKE

EE%

BETRDIE

BB HE S

XBDFEE

X #RE DHLAE

i
‘!Et' BB JIL

EEE MFABRDIRILF—ER
BHEED

HURBORERTF

e R TTSR : [r-192, Co-60.
Se-175

i (R, o T IRIRD R
Fon, TRILEF— 5K, IR
&)

ME L DEEER

M (IR, FEDTREHR. BEL
R, BBESDEE)

ME

IARILF¥—

F i 2

PR OIWNS % ok

BiE (EM. 2H. RER HF
Y4 LR

A3

74 IILLDOEMSE (BRE., Sk, O
VESRMORE. T4ILLDS
#8)

R RLAR (B RURDIESE, IR R .
T4NBYVTHB. T0ILLE
NEE)

BAHREBRBROIRFEE

RAFHFEAS GBIk T«
VLR EERE, BRsHE. IR - S
ER{RREEERE)

R - 7 4 LTS

BRMEESRAEEE
R

1.50

0.50

B DT ERER

BERNDES

=T DEH

RHMRICRETZE (2T DE
B, TE B

R AIRE R BB E &

i
B

2.00

4.50

X REEDHE L 21F

EEXEDkE AIHRAERR (TSR
ELABRNEITITVIE)

EROBE (REMZ XKRE. O
yE7/—F. 87/ —FE)

AE AR K,

\\\\\\\\

& H R

faR

ZEEE

mikEREAE

HUIBEBEOEE LR GE
BBk, V7 T7XAP/M A/B R (B
). WRERLET—LBREN T
L)

FEHIRR (RIEME. HEeE.
EIREE, O A—4— BfHA
8)

MikERAE (ADERFEHERE
AN

1/2




10RT1 SNEA S 573X 20150601. doc

ERE

BIEEI kA
WEG#ERFR (h)

#E

=&

AlEREER

Bl SRS

HERDEATIFER

0.50

0.50

FIEE

HERADFR

AERIAD T

BEDHRE

EREE

LEE I ES

BRE#HE 200MRE)

<T—F2y

HER

2.00

3.50

BgmE

EE (S, BRBK. Kk, €&
R/ AKHE, BLIE. T4 L LR
DL

BERFORR

i AR #E

AEBROE (EAR, HERM

HBRTIE (RERN

IRILF—DEIR (RAXKREE
E. HoRBIZEIEBRBES, 8
SCEIE)

T4 ILLEEREDOFER (711
LDRS, BEREEDES)

RIERE

R - RERIA RIS IR

FHRKOFI A

BHENEE (FRHERH)

BERLOFHBOME (T14 VLK
REERFFD, RE. REEHA~
DEE)

10T (JIS Z 2306)

Nl DEFLEER BLABERET
®NIEE. GESE.GEES)

X=X THE

MEMETAILLDEE (R
~ADIY—Y ., BR. REARA)

il & #RE

1.00

3.00

ST EE

BRXH EREOKR. BIE
. IRRGEERE. 7 1 )L LERERS.
1EE., RERE)

BBEH DG

BB DR

BEBEDEHEYOTERTD
BE

FF

RETARY

0.50

BiTEDOE®K (1509712 RV JIS
Z 230512& %)

F%

BARREEHE

it

12.00

12.00

MR BRI

12~28

WHE TR R R

12~28

&=/NR O Fl R e

40

* [RSREEEE] (2DOWTIE, JIS Z 2305:2013 D&/NMROINFERDINERRBICEFT N TOAENA, KERERY
JOBRITELE LTRABERTHAH=0, JERHHITESTICEEZEMLT,

2/2




